
X-G-RST３００＆５００-E03 シリーズ 
ユーザマニュアル 
コントローラと直読高精度ロータリエンコーダーを内蔵した高精度高分解能電動ジンバル 

 
Disclaimer 

Zaber’s devices are not intended for use in any critical medical, aviation, or military applications or 
situations where a product's use or failure could cause personal injury, death, or damage to property. 
Zaber disclaims any and all liability for injury or other damages resulting from the use of our products.  

Precautions 

重量物! Completely assembled X-G-RST-DE Gimbals with crossmember plates for mounting the 
payload can weigh more than 15kg/33lb. Exercise caution when lifting/moving larger assemblies.  

 
転倒の危険!    ting a payload or powering up the gimbal, ensure it is fully secured to a mounting 
surface. Moving the payload can cause unsecured gimbals to tip over, which may lead to injury or 
damage.  

 
Pinch Hazard! Keep fingers and any loose objects (such as dangling cables) away from the 
elevation mounts whenever the device is moving or active as pinching could cause severe injury or 
cable damage.  

 
Important: Zaber's X-G-RST-DE gimbals use X-RST-DE rotary stages, which are capable of 
outputting high torque and supporting heavy centred loads. It is possible to damage the stage or 
reduce its lifetime under certain conditions within the limits of the torque and load ratings. Maximum 

Zaber のデバイスは、製品の使用または故障により人身傷害、死亡、または物的損害が発生する可能性がある重

要な医療、航空、または軍事アプリケーションまたは状況での使用を意図していません。 Zaber は、当社製品の

使用に起因する怪我またはその他の損害に対する一切の責任を負いません。 

されていることを確認してください。負荷を移動すると、固定されていないジンバルが転倒し、怪我や損傷につな

がる可能性があります。 

ピンチハザード！ 手作業の際は、と重傷やケーブルの損傷を引き起こす可能性があるため、デバイスが動いてい

るときや待機状態では常に、手作業を止め、非固定物（ぶら下がりケーブルなど）をエレベーションマウントから

離してください。 

重要：Zaber の X-G-RST-E ジンバルは X-RST-E 回転ステージを使用しており、高トルクを出力し、重い負荷を

サポートできます。 トルクおよび負荷定格の範囲内の特定の条件下でも、ステージを損傷したり、ステージの寿

命を縮める可能性があります。 当製品には最大角運動量も指定されており、大きな慣性負荷の突然の開始または

停止により寿命が短くなる可能性を低減します。 

負荷を取り付けるためのクロスメンバープレート上に、負荷が完全に組み込まれた X-G-RST-DE 

ジンバルの重量は 15kg を超える場合があります。 大きなアセンブリを持ち上げたり移動したりするときはご注意ください。 

免責事項 

仕様上の注意 

負荷を取り付ける前、またはジンバルに電源を入れる前に、負荷が取り付け面に完全に固定 



angular momentum is also specified for this product to reduce the likelihood of shortened lifetime due 
to abrupt starts or stops of significant inertial loads. The distance of the payload crossmember plate 
to the elevation axis is adjustable. With increasing offset from the axis it is highly recommended to 
center the load with the elevation axis to achieve optimal gimbal performance and long lifetime.  

Please see Crossmember Height Adjustment instructions for details.  

 
Important: When Adjusting the crossmember plate height, always ensure the crossmember plate 
feet fasteners are tight before engaging elevation axis apparatus. Regularly checking fasteners are 
tight is advised as small vibrations during gimbal operation can lead to loosening. Low-strength 
threadlocker such as Loctite 222 is recommended.  

 
Important: Note there is a unidirectional homing limitation, which can be critical on the elevation axis. 
The “home” command will always move in the counterclockwise direction towards zero. When power 
to the system is cycled, the gimbal will need to home in order to re-zero its position. Keep this in mind 
in the use case requires restricted travel limits, and homing would cause movement through an 
undesired region. Please make sure you have enough clearance around the gimbal to allow full 360° 
rotation of both axes to prevent damage to the surrounding area or your equipment.  

Please see Elevation Mount Home Position Angular 45 degree Offset instructions for details.  

 
Important: To ensure cables do not become entangled during gimbal operation, connect power and 
data cables to only the bottom X-RST-DE rotary stage. Power and communication is daisy-chained to 
the upper X-RST-DE rotary stage through a slip ring.  

ノイズ放出 

The A-weighted emission sound pressure level (SPL) of this device does not exceed 70 dB(A) during 
intended use.  

付属の X-G-RST-E ジンバルアイテム 

                                 

負荷取り付けプレートの昇降軸までの距離は調整可能です。 軸からの取り付けオフセットが大きくなる場合は、

最適なジンバルパフォーマンスと長寿命を実現するために、負荷を仰角軸の中心に置くことが強く推奨されま

す。 
 

詳細については、クロスメンバープレート（負荷取り付け板）の高さ調整の説明を参照してください。 

重要：負荷取り付けプレートの高さを調整するときは、昇降軸装置を使用する前に、必ず負荷取り付けプレー

トの固定部ファスナーがしっかり締まっていることを確認してください。 定期的にファスナーが締まっている

ことを確認することをお勧めします。ジンバル操作中の小さな振動で緩む可能性があるためです。 Loctite 222
などの低強度のねじロック剤をお勧めします。 

重要：昇降軸で重要になる可能性がある案件として、「原点復帰は同一方向からのみ実施」の制限があることに注

意してください。 「ホーム（原点復帰）」コマンドは常に反時計回り、ゼロに向かって移動します。 システムの

電源を入れ直すと、ジンバルの位置をゼロに戻すためにジンバルが原点に戻る必要があります。 使用状況に応じ

ては、移動制限が必要であり、原点復帰が移動不可領域を指示する原因になるため、これを覚えておいてくださ

い。 ジンバルの周囲に十分なクリアランスがあることを確認してください。両方の軸を 360 度完全に回転させ

て、周辺エリアや機器への損傷が生じないことを確認してください。 

詳細については、昇降台座の原点位置（角度）の 45 度オフセットの説明を参照してください。 

重要：ジンバル操作中にケーブルが絡まないようにするには、電源ケーブルとデータケーブルを下部の X-RST-DE
回転ステージのみに接続します。 電力と通信は、スリップリングを介して上部 X-RST-DE 回転ステージにデイジ

ーチェーン接続されています。 

このデバイスの A 特性放射音圧レベル（SPL）は、意図した使用中に 70 dB（A）を超えません。 



Specific items included with every system  

 1X Optional 8 conductor cable with 2 A signal wire flying leads and a grommet 
 1X Precision 2” alignment pin for optional angular offset realignment of the elevation apparatus 

with 2X low-profile M6 x 08 mm screws 
 4X M6 x 14 mm screws for bolting gimbal system to a mount surface 

物理的なインストールとセットアップ 

To set up your gimbal for safe operation, complete the following steps. Contact Zaber Customer 
Support at any time for clarification or additional information.  

                               

Before powering up the gimbal secure it to a mount surface via provided 4X M6 screws using 5mm   
hex key. Max torque specs required 6 N-m.  

                              

Plug in Power Supply and circular M8 connector from X-USBDC cable into the bottom X-RST-E stage.  

  

                             

Connect other side of X-USBDC cable into computer's USB port.  

すべてのシステムに含まれる特定のアイテム: 
・ オプションの 8 芯ケーブル、2 A 信号線フライングリード（バラ線）とグロメット 1 式 
・ 腑仰角の角度オフセットを再調整するための精密 薄型 M6 x 08 mm ネジ 2 式と精密２インチ調整ピン１式 
・ ジンバルシステムを固定面にボルト留めするための M6 x 14 mm ネジ 4 式 
 

ジンバルを安全な操作ができるように設定するには、次の手順を実行してください。追加のご説明または追加情

報については、いつでも Zaber カスタマーサポートへお問い合わせください。 

ジンバルの電源投入前に、5mm の六角レンチを使用して、付属の 4X M6 ネジで取り付け面に固定して下さい。 
最大トルク仕様は 6 N-m です。 

電源ケーブルを接続して、X-USBDC ケーブル M8 コネクターを X-RST-E ステージ下段の丸形プラグに接続して

ください。 

X-USBDC ケーブルの反対側をコンピューターの USB ポートに接続して下



クロスメンバープレートの高さ調整 

To safely adjust the height of the crossmember plate, complete the following steps. Contact Zaber 
Customer Support at any time for clarification or additional information.  

                             

Use a 5 mm hex key to remove four M6 screws on the crossmember plate feet (two on each side)...  

                            

...with one hand while supporting the plate with the other hand.  

  

                             

Cautiously, slide the plate with feet down to the desired position. Ensure you keep the plate level      
as you lower it to avoid any binding.  

クロスメンバープレート(負荷取り付板）の高さを安全に調整するには、次の手順を実行して下さい。 説明また

は追加情報については、いつでも Zaber カスタマーサポートにご連絡ください。 

5 mm の六角レンチを使用して、クロスメンバープレートフィートの 4 つの M6 ネジ（両側に 2 つ）を取り外し

て下さい... 

...片方の手でプレートを支えながらもう一方の手で、 

慎重に、プレートを目的の位置までスライドして、下げて下さい。 プレートを下げるときは、プレートを水平

に保ってください。 



                             

Secure the plate feet by hand tightening them to the elevation mounts.Tip: use foam from packaging   
as a support or to protect the gimbal arms from damage in case of accidental plate drop. Max torque   
for these screws is 4.2 N-m  

  

俯角マウント取り付け原点位置を 45 度オフセット 

To physically offset the elevation mount home position on the gimbal, complete the following steps. 
Contact Zaber Customer Support at any time for clarification or additional information.  

                             

Insert 2” precision alignment pin into the elevation axis stage aperture. You may need to lower the 
crossmember plate to fully expose the aperture and alternative elevation mount holes.  

                              

Use a 5 mm hex key to remove the four M6 screws.  

プレートの脚の部分をエレベーションマウントに手で締めて固定して下さい。ヒント：梱包材のフォームをサポ

ートとして使用し、プレートが誤って落下した場合にジンバルアームを損傷から保護してください。  
これらのネジの最大トルクは 4.2 N-m です。 

ジンバルの仰角マウントのホームポジションを物理的にオフセットするには、次の手順を実行して下さい。 
説明または追加情報については、いつでも Zaber カスタマーサポートにご連絡ください。 

2 インチの精密位置合わせ（アライメント）ピンを昇降軸ステージの開口部に挿入します。 必要に応じてクロス

メンバープレートを下げて開口部の別の取り付け穴位置の全部が良く見えるようにしてください。 

5 mm の六角レンチを使用して、4 つの M6 ネジを外してください。 



  

                             

Once all screws are removed, rotate the mount by 45°.  

                              

Re-fasten the four M6 screws to re-attach the mount.  

  

                              

Ensure you use the two low profile M6 screws inside the key alignment feature to allow the 
crossmember plate to slide up to or past this height. Note: Max torque for these screws is 4.2 N-m. 
Carefully, remove the alignment pin from the aperture.  

オプションの信号出力ケーブルの取り付け 

Should you decide to use available 8X 2 Amp slip ring wire connections, to properly install the signal 
output cable complete the following steps. Contact Zaber Customer Support at any time for 
clarification or additional information.  

すべてのネジを取り外したら、マウントを 45°回転して下さい。 

マウントを再度取り付けたら、4 本の M6 ネジを再度締めてください。 

クロスメンバープレートがこの高さまで、またはこの高さを超えてスライドできるように、キーアライメント

機能の内側に 2 つの薄型 M6 ネジが使用されているので確認してください。 注：これらのねじの最大トルクは

4.2 N-m です。 アパーチャから位置合わせピンを慎重に取り外して下さい。 

使用可能な 8X 2 A スリップリングワイヤ接続を使用する場合は、信号出力ケーブルを正しく取り付けるために、

次の手順を実行します。 説明または追加情報については、いつでも Zaber カスタマーサポートに連絡してくださ

い。 



                               

Insert the flying leads of the signal output cable through the back of the hole in the upper axis stage 
back plate.  

                                  

Plug the connector end into the mating connector inside the pocket of the gimbal arm, as shown.     
The connector should latch securely.  

  

                                

Pull the rubber grommet over the cable with the cutout facing upwards.  

信号出力ケーブルのフライングリードを、上軸ステージのバックプレートの穴の後ろから挿入して下さい。 

図のように、コネクタの端をジンバルアームのポケットの内側の対応するコネクタに差し込んで下さい。 コ
ネクタはしっかりと固定されるはずです。 

切り欠きが上を向くようにゴム製グロメットをケーブルの上に引っ張ります。 



                               

Press the grommet into the hole of the stage back plate.  

  

                               

Use a 1.5 mm hex key to remove the M2 screw on one side of the strain relief strap.  

                              

Use the strap to secure the cable and finger tight the M2 screw back..  

  

                              

Finished Signal Output Cable Installation.  

グロメットをステージのバックプレートの穴に押し込みます。 

1.5 mm の六角レンチを使用して、ストレインリリーフストラップの片側にある M2 ネジを外します。 

ストラップを使用してケーブルを固定し、M2 ネジを手で締めます。 

信号出力ケーブルの取り付け完了 



保証と修理 

For Zaber's policies on warranty and repair, please refer to the Ordering Policies.  

標準品 

Standard products are any part numbers that do not contain the suffix ENG followed by a 4 digit 
number. Most, but not all, standard products are listed for sale on our website. All standard Zaber 
products are backed by a one-month satisfaction guarantee. If you are not satisfied with your 
purchase, we will refund your payment minus any shipping charges. Goods must be in brand new 
saleable condition with no marks. Zaber products are guaranteed for one year. During this period 
Zaber will repair any products with faults due to manufacturing defects, free of charge.  

カスタム製品 

Custom products are any part numbers containing the suffix ENG followed by a 4 digit number. Each 
of these products has been designed for a custom application for a particular customer. Custom 
products are guaranteed for one year, unless explicitly stated otherwise. During this period Zaber will 
repair any products with faults due to manufacturing defects, free of charge.  

商品の返品方法 

Customers with devices in need of return or repair should contact Zaber to obtain an RMA form which 
must be filled out and sent back to us to receive an RMA number. The RMA form contains 
instructions for packing and returning the device. The specified RMA number must be included on the 
shipment to ensure timely processing.  

ご連絡先 

 

 

 

付録 A: 初期値設定値 

Please see the Zaber Support Page for default settings for this device.  

 

 

 

 

 

当社は Zaber 社の日本国内での総代理店です。 
製品に関するお問い合わせ、不具合のご連絡、なんでもご相談ください。 

このデバイスのデフォルト設定については、Zaber サポートページを参照してください。 
https://www.zaber.com/device-settings 

 
〒171-0022 東京都豊島区南池袋 3-18-35 

OK ビル 2 階 
Tel: 03-5924-6750 Fax:03-5924-6751 
E-mail: sales@technology-l.com  
URL: http://www.technology-link.jp 

保証と修理に関する Zaber のポリシーについては、注文ポリシーを参照してください。 

標準製品とは、サフィックス ENG の後に 4 桁の数字が付いていない部品番号です。 すべてではありません

が、ほとんどの標準製品が当社の Web サイトで販売されています。 すべての標準的な Zaber 製品は、1 か月

の満足保証によって支えられています。 ご購入にご満足いただけない場合は、送料を差し引いた金額を返金

いたします。 商品は、マークのない新品の販売可能な状態である必要があります。 Zaber 製品は 1 年間保証

されます。 この期間中、Zaber は製造上の欠陥が原因で発生した製品を無料で修理します。 

カスタム製品は、接尾辞 ENG の後に 4 桁の数字が続くパーツ番号です。 これらの各製品は、特定の顧客向けの

カスタムアプリケーション用に設計されています。 特記のない限り、カスタム製品は 1 年間保証されます。 こ
の期間中、Zaber は製造上の欠陥が原因で発生した製品を無料で修理します。 

デバイスの返品または修理が必要なお客様は、Zaber に連絡して RMA フォームを取得する必要があります。RMA
フォームに記入して返信し、RMA 番号を受け取る必要があります。 RMA フォームには、デバイスを梱包して返

品する手順が含まれています。 指定された RMA 番号は、タイムリーな処理を確実にするために、出荷に含まれて

いる必要があります。  不具合の場合は 弊社へご一報ください。以下ご連絡先 



Product Drawing 

 
仕様 

仕様諸元 データ 代替値 
マイクロステップサイズ (初期値分解能)  0.00015625 °  2.727 µrad  
内蔵コントローラ  有り   
可動範囲  360 °   
精度 (同一方向)  0.16 °  2.792000 mrad  
繰り返し精度  < 0.005 °  < 0.087 mrad  
バックラッシュ  < 0.005 °  < 0.087 mrad  
最高速度  24 °/s  4 rpm  
最低速度  0.000095 °/s  1.658 µrad/s  
速度分解能  0.000095 °/s  1.658 µrad/s  
エンコーダ分解能  200 CPR  800 states/rev  
エンコーダタイプ  4 分割矩形波出力モータエンコーダ   
通信インターフェース  RS-232   
通信プロトコル  Zaber ASCII (初期値), Zaber Binary   
最大連続トルク  1000 N⋅cm  1416.1 oz⋅in  
最大中心荷重  150 N  33.6 lb  
最大カンチレバー荷重  2000 N⋅cm  2832.2 oz⋅in  



仕様諸元 データ 代替値 
アパ―チャー径  50.8 mm  2.000 "  
最大電流消費 2200 mA   
電源電圧  48 VDC   
電源プラグ  2-ピンネジ端子   

モータ 1 回転での移動角度  2 °   

モータス 1 回転でのステップ数 200   
モータタイプ  ステッパーモータ (2 相)   
モータ定格電流  1500 mA/相   
インダクタンス  6.6 mH/相   
最大角運動量 0.4 kg⋅m2/s   
初期値分解能  1 ステップの 1/64   
データケーブル接続  ロック式 4-ピン M8   
機械的駆動方式 精密ウオームギア   
ギア比  180:1   
リミット又は原点（ホーム）検出  磁気式ホームセンサー  
手動制御  有り   
操作温度範囲  0-50 °C   
真空適合  無し   
RoHS 準拠  

準拠   

CE 準拠  
準拠   

 
各モデル重量 

機種名 重量 

X-G-RST300-E03SR10 13.2 kg (29.101 lb) 
X-G-RST500-E03SR10 13.8 kg (30.424 lb) 

 

 
〒171-0022 東京都豊島区南池袋 3-18-35 

OK ビル 2 階 
Tel: 03-5924-6750 Fax:03-5924-6751 
E-mail: sales@technology-l.com  
URL: http://www.technology-link.jp 
 


